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1. UFEBFHR LMy FTEXY" +y — 2y = 06942
(A) e* (B) e (C) e** (D) e*

2. LATFiEIE P I —BAL(Y) = th K2z (Laplace transform)sr 45 84 & K-
(A)s (B) 1 (C) 1/s (D) 1/s?

3. B4ty Ea=[1,2, 0] & Eb=[3, 2, -1] & &8 & B P4 (inner product)4 Ra-bz :
(A)1(B)0(C)-1(D)-2

4. TR TIAEL  (A)-50 (B)-60 (C)-70 (D) -80

-3 0 0
6 4 0
-1 2 5

5. LATFiEE ¥ I —EL M FEAXY" — 2.5xy — 2y = 089
(A)x (B) x* (C) x* (D) x*

6. M3t [ tre~Stdr % :

(A) = (B) = (C) 5 D)

s2 s%

7. BB —1-i—X=Z,°$l=0xm =14+x+x?+x3+x*+x5+ BUHRESL

(A)x<1 (B)Fr & E# (C)frF a3 (D)x>=1

8. REBEH f(X,y,z)=2C+ 3y + 22ty # & (Gradient):
(A)[2x,3y,z] (B)[4x,6y,2z] (C)[6x,8y,4z] (D)[8x, 10y, Z]
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1. 3R T 24 6y R 4B [

2. % F(xy) = B+2xy)l + (x* —3y?)j, 4k k@ #f 543 F=Vf -

> #£36%)

-1
3
-1

-1 1

3. HA A 4 & dw 47 4 s (Laplace transform) R @ 4n 468 P88 y”-y = t, y(0)=1, y’(0)=1 -
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f() $(f) (0 L)
| | 1/ 7 :
S cos wt -
2+ w?
) 2 . w
2 t /s 8 sin wt PER
2 3 s
3 t 2s 9 cosh at 5 3
s4 = u
4 a " 10 ink .
—— sinh art :
(n=0,1---) sttt §2 — 42
1@ ['a + 1) s — d
5 » . 11 M cos wt ——
(a positive) gatl ©c (s — @) + o?
at ] ot w
§) e 12 e sin wt —
S —d (s —u)*+ w
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